
.1*/2-'),0(+&I � m Rb�Æu�` [1] �p7P?qQD, Æ�7�	�PQ, qYb�^`�5.	�Q�o"aS.8 S ℄�EdV, A ⊂ S AQ+zE�d, 6 s ∈ S, �
IA(s) =

{

1, 0O s ∈ A;

0, 0O s 6∈ A,�� IA(s) w D�5DKb�, �J s A�C��d A, Ll��℄�d A+?qQD.�B�aS�, S wA*�k (W��*�km Ω), 8 A 
Ab�OMo+N
�k. ���, IA AzE�) 0 a 1 �E�+N

	. Æ%' IA = 1 :�?�k A 99; 8' IA = 0 :�?�k A �99. }�
EIA = P (A).?qQD�B���	�*X7, ��x+z�	�wA��b�fLN

	+ [.# 1. zEh��� 5 E', ?
| 1 − 5 �S, 2�=_.)'4�, g�6�)�z�+'+ED℄ X. ( EX.�A 2025 �nC}zy/ 14 S, �SAU�S, �x"�, �xP�. &Ax�"�, w�s��:L�"�. �Y+o:Ae(� X +?�Æ, 
( [. }�, X +)�dVA {1, 2, 3}. xfL X )Q�+B�rx	����V�<, /}�!.b���?qQDfL EX. �

Ik =

{

1, 0O kS'�6�)(z�,

0, 0O kS'4�2���)(,
k = 1, 2, · · · , 5./}{� I1 + I2 + · · ·+ I5 wA�6�)�z�+'+ED, ~e

X = I1 + I2 + · · ·+ I5.
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EX = EI1 + EI2 + · · ·+ EI5.86��E k ∈ {1, 2, · · · , 5}, 2�
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��'+W�+ED+ [A .M-�� 1 g�, zEA)', zEA=', !;oz+E
Z*gX. �ES�+"�wA:
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(
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(m− 1

m
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.
{ 2025 ��tC}DvBy�+B�o"S.# 3. �z)u�S�}�zE�<0, i{�kF� 100 .�h}B. ik� 80 ."6AS, {k� 75 ."6AS. ���KfB�.

(1) ikN
�)z., (A."6AS+B�;

(2) i{�kFN
�)z., | X gP��"6AS+.D, (#�z."6AS+B�, Æ( X + [;

(3)ik�
A�<0+. 100% �"6AS, 8{k�
A�<0+.
85% �"6AS. _�
A�<0+.
2A FEu�i�N
u�zE.8ikv9�
A�<0+B�A p1, {kv9�
A�<0+B�A p2, B�n p1 � p2 +#j.�#S4EjS?
}T�X+�<0. / (1) jS�℄j%.

(1)��ik 100 ��}v9�� 80 ."6S�, ���KfB�, �� ikN
�)z., A."6AS+B�A 0.8.℄o/ (2) jS, �|�1?qQD. �
I1 =

{

1, 0O��+ikv9"6S�,

0, 0O��+ikv9_"6S�;
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I2 =

{

1, 0O��+{kv9"6S�,

0, 0O��+{kv9_"6S�.�� X = I1 + I2 wAO��+.�"6S�+.D.}�, I1 � I2 gZ3�, Q�+?�Æ?
℄
(

0 1

0.2 0.8

) � (

0 1

0.25 0.75

)

.L�
P (X = 1) = P (I1 + I2 = 1) = P (I1 = 1, I2 = 0) + P (I1 = 0, I2 = 1)

= 0.8× 0.25 + 0.2× 0.75 = 0.2 + 0.15 = 0.35.8
EX = EI1 + EI2 = P (I1 = 1) + P (I2 = 1) = 0.8 + 0.75 = 1.55.��/ (3) jS, �Hx*B�J>, �S�Vk, ���E,>

80% = p1 · 100%+ (1− p1) · 25%, 1©

75% = p2 · 85% + (1− p2) · 25%. 2© 1© >o* p1 = 11/15;  2© >o* p2 = 5/6. O| p1 < p2.��{�, sNikv9�
A�<0+&��0{k, �A�E�
A�<0+.2� 100% �"6S�, =**k+�,�;8�P{k.�o/ (2)jS+P��O�1+�E?qQD I1� I2GB� P (X = 1)U [ EX +fL$�z1�4+<	. 80Ox(b�fL X +<�+℄,��R�wIh�f
. �;5, 6��) 0 U 1 �E�+N

	 ξ, b��
Dξ = Eξ2 − (Eξ)2 = P (ξ = 1)− P 2(ξ = 1) = P (ξ = 1) · P (ξ = 0).O|

DI1 = 0.8× 0.2 = 0.16; DI2 = 0.75× 0.25 = 0.1875.8� I1 � I2 +3�q, e�
DX = D(I1 + I2) = DI1 +DI2 = 0.16 + 0.1875 = 0.3475.!"$%

[1] H�: ?qQD��T��, .
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